SOLUTION
Who is in the Q?

Step 1: Number the queue members by their starting positions
(left-hand table below).

Step 2: Determine the three reordering rules and apply them to
the rest of the line-ups (remaining tables below).

1({1|1 3(3|7 5152 71716 4/16|3 21415
2122 42|16 6123 2125 6|24 6124
3(3(3| [5]5|5| |7]|7[4] [4]6]4] [2]|4|5]| Tomescr
At their hotel, Frankenstein
4 4 4 6 4 4 2 4 5 6 4 3 J:I:etCapu:et gotanx-:a\r.
In Montréal, had a drink of
5 5 5 7 7 3 4 6 6 Québec, Romeo whiskey.
In ariver delta, Montague took
6 6 6 2 6 2 MikeWazowtski atar:gjles:on.
In Lima, Peru, istened for an
7 7 ? Charlie Brown et ec::.
In the Sierra played a round
Nevadas, Papa of golf.
John danced

the foxtrot.

Step 3: Last group served (6,2,4): At Yankee Stadium, Oscar the
Grouch tries on a uniform. Use NATO to find out who is always
eager to get to puzzled pint on time.

Solution: YOU




SOLUTION
What the X goin’ on?

Step 1: Solve the logic grid.

z
S 2
T < B E . 2
éé%%SEEEEEDE%g?%
cez28888225358E84&S3
Mr Green X XX XX
Mrs White
Miss Scarlett X -
Colonel Mustard
Mrs Peacock XX X
Library X
Kitchen
Conservatory
Study
Lounge X XX X
8pm X X
9pm
10pm X
11lpm
Midnight X
Step 2: Cut out and reassemble grid Step 3: SHIFT OTHER
by where the X is positioned. GRID BY FOUR.

. %

|

ﬂnn E SNACK




SOLUTION
Where R U?

Step 1: Fill out the grid:
The following sixteen logical deduction steps explain how to fill out the grid. The filled
out grid is shown at right. The numbers next to each letter correspond to the order in

which those letters were deduced according to the pathway below. This is not the only
pathway that will get you there. (pos = position.)

) From TONIC, there is an N in word 2 — pos 3.

. From MOIST, thereis a T in word 3 — pos 5.

) From FIEND, there is an N in pos 4, and it is not in
word 1 or 3 so it must be in the shared pos 4 of
words 2 & 4.

) From DUSTY, there is a Y in pos 5, but it is not in
words 1, 3, or 4, so it must be in word 2.

. From DUSTY, there is a D in pos 1, but it is not in .
words 1, 2 or 3, so it must be in word 4. .S£p_2. U-se the

. From FIEND, there is an F in pos 1, but it is not in intersections to get the
words 1, 3 or 4, so it must be in word 2. solution to Part 1:

e  From BONUS, there is a U in pos 4, but it is not in YOU TURN

words 1 (because then it would also be in word 4
pos 2) and it is not in 2 or 4, so it must be in word 3.

. From MOIST, there is an O in word 3 and it is not in
pos’s 1, 2, 4 or 5, so it must be in pos 3.

. From MOIST, there is an | in pos 3, but it is not in
words 1, 2 or 3, so it must be in word 4.

. From SNAKY, there is a K in word 4, but it is not in
pos's 1, 2, 3 or 4, so it must be in pos 5. (POLKA
tells us it is not in pos 2.)

(U-TURN!) 1 2

. From ARSON, there is an R in pos 2, but it is not in )
words 1 or 3 (shared) or in word 2, so it must be in St_e;ﬁ..Use the.double
word 4. letters in the grid

e  From STUMP, there is a T in pos 2, but it is not in backwards (by their first
words 2 or 4, so it must be in the shared pos 2 of appearance) to get the
words 1 & 3. solution to Part 2:

. From ARSON, there is an S in word 3, and the only KN“TS 1 2
pos unoccupied is pos 1.

pos’s 2, 3, 4 or 5, so it must be in pos 1.

. From POLKA, there is an O in word 1, and it is not
in pos’s 1, 2, 4 or 5, so it must be in pos 3.

. From POLKA, there is a K in word 1, and the only
pos unoccupied is pos 3.

»  From DUSTY, there is an S in word 1, and it is not in _« BEEE'
0 N



SOLUTION
The When-V of

all of your friends

Step 1: The edges of the raised numerals give morse code.
The letters each friend sees are:

[ ) [ X X ]

— N S — T
I E E
— N — Vv — N
E . E
— N

Step 2: Moving the clock hand to those hours in order gives:

S EC )
N D H
A N D

SECOND HAND




SOLUTION
llWhy?"

Step 1: The images represent

3-letter words that end in V. ‘N\\:RY
— | <
SPY Suw <
£V PLY

STY

-
o< CRY
03
FRY &~
Step 2: Solve 1 YUK | sTuck | puuck | w
word clues.
2 | we | sup | me | 7 | H
Step 3: Join
2Ep 2 3 YOKE | SPOKE | STOKE | \ Y

words using Y as
the join letter.

4 YACK | CRACK | SLACK | "\ N

Step 4: 5 YANK | SPANK | FLANK N\ 0
Semaphore.

6 YAWN | PRAWN | SPAWN \J T




SOLUTION
How Meta!?

Step 1: Enter solutions based on letter theme of puzzles.

¢ TurN] — U
NK___.__.]
9 W3 >Y
LILMQlé}hW
| CHAND] >
G (SECOND]
— X

h{ZNACK]

Step 2: Rotate the letters in ENgLISh to get numbered order.

Step 3: Find a direction from each clue and follow it on the map.

Order Word Directional Direction Letter
Letters
1 HAND N N P
2 NOT N N I
3 TURN N N Z
4 SNACK SN Z
5 SECOND SEN E A
6 WHY w w Z
7 KNOTS NS Z




SOLUTION

Double-U Too:
Electric Boogaloo

Step 1: Solve word clues.

* SAVVY * RACCOON
* AARDVARK * PENNY
* HICCUP * GLUTTONY
W * SKIING
* SUMMER * FUNNY

W

* GAMMA

Step 2: Look at doubled letters.

VACWM CONTINWM

Step 3: Those aren’t words. Try spelling them out loud.

VACUUM CONTINUUM
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